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SET PREVIOUS QUESTIONS

. A circle, a squire, a rectangle and a parallelogram have equal perimeters. Which shape will have the maximum area?

(A) Squre (B) Rectangle (C) Parallelogram (D) Circle

A metallic cylinder weights 2.5 kg. The weight of another cylinder made up of the same metal and having a diameter
double the original and height half the original will be

(A)40kg (B)10kg (C)5kg (D)2.5kg

Where is the 'Place of Nation' located?

(A) Washington (B) Paris (C) Geneva (D) Beijing

Regular sea breeze will be flowing strongly during

(A) morning (B) evening (C) night (D) day time

. Which of the following creatures is not an example for mammal?

(A) Rabbit  (B) Cow (C) Bat (D) Tortise
Which of the following writers in Malayalam is not a receipient of Jnanpeet Award?

(A) S.K Pottekkat (B) Uroob

(C) Thakazhi (D) Shankara Kurup

The most salient features of Allport's theory of personality is

(A) study of dynamics of personality (B) stress on the unconscious mind
(C) scientific study of personality traits (D) holistic approach to personality
An example for chemical change is

(A) rusting of iron (B) producing steam from water

(C) information of ice (D) dissolving salt in water

The immediate provocation that that made the US drop atom bomb in Hiroshima was

(A) Japanese invasion of Singapore (B) fear that Japan will become a super power
(C) Japanese attack of US ships in Pearl Harbour (D) Pressure on the US by its allies in war.
Raw carrots are good source of

(A) vitamin K (B) vitamin C

(C) vitamin D (C) vitamin A

The shift from Feudalism to Capitalism in the west was accelerated by

(A) The French Revolution (B) The Russian Revolution

(C) The industrial Revolution (D) The Agrarian Revolution

The educational technology, the direct application of the theory of reinforcement is reflected in
(A) the project method (B) the laboratory method

(C) the heuristic method (D) programmed instruction
Gandhiji stated the he got inspiration for starting the 'Tolstoy farm' from

(A) Tolstoy's 'Resurrection’ (B) Rousseau's 'Emile’

(C) Ruskin's 'Unto this last' (D) Plato's 'Republic’

The bowler who has taken the maximum number of test wickets in the international cricket is
(A) Coutney Walsh (B) Kapil Dev

(C) Richard Hadley (D) Muthiah Muraleedaran

Kaziranga is a sanctuary meant for

(A) tigers (B) lions (C) rhinos (D) hippopotamus

The most basic characteristic of Educational Technology is

(A) use of hardware in education (B) insistence of input-output relation
(C) application of the system approach (D) use of multimedia of variety in experience
Four philosophical trends reflected on educational programmes are

i. setting pre-concieved goals

ii. learning by doing

iii. complete freedom for self expression

iv. insistence of severe discipline

of these which ones are typical of the idealistic philosophy?

(A) (i) and (iv) (B) (i) and (iii)

(C) (iii) and (iv) (D) All of these
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Which one of the following is not within the purview of the Lok Sabha?

(A) Designing an educational policy for the country

(B) Revising the salary structure of central government employees.

(C) Changing rules governing economic programmes

(D) Deciding upon the punishment for a criminal

The scientist who argued that acquired characteristic will be inherited is

(A) Charles Darwin (B) Lamarc (C) J.C Bose (D) Weisman

According to Humanistic philosophy of education, the ultimate goal of all educational activities should be

(A) total development of human society (B) psychological happiness of human individuals
(C) development of human personalities (D) creating harmony among human beings
Which is the considered as the best indicator of the economic development of nation?

(A) increase in per capita income (B) Increase in industrial development

(C) increase in export sector (D) increase in employment opportunities
The term 'Defence Machanism' is a key concept the which school of psychology?

(A) Behaviourist (B) Humanistic

(C) Psycho (D) Psycho Analytical

The learning experience that reflects most in the educational philosophy of Rousseau is

(A) plays and songs (B) sense training programmes

(C) playing with self corrective aids (D) observing phenomena in the surroundigs

Three solid metal balls having the same weight are seperately immersed in water. The specific gravities of the
materials are 7.5,8.1,12.5 respectively. Which of these will suffer maximum loss of weight?

(A) First (B) Second (C) Third (D) All will be the same

Which of the following phrases (phenomenon) is crucial in Gagne's Theory of Learning?

(A) Spiral approach (B) Heirarchy of learning skill

(C) Congnitive growth (D) Enactive experience

Which is the gland in human body known as the 'Master gland' ?

(A) Thyroid (B) Thalamus (C) Adrenal (D) Pituitary

A person drives from a place A to another place B at an average speed of 30 km per hour and then from B to A at an
average speed of 30 km per hour. What is the average speed of the whole journey in km per hour ?

(A) 15 (B) 20 (C)24 (D) 25

Currently much discussion is going on about a new variety of rice developed by genetic engineering, which is rich in
nutrient , the deficiency of which has been causing death of about a million children in Asia. Which is that nutrient ?
(A) Protein (B) Vitamin (C) Iron (D) Vitamin A

Ummachu, Chemmeen, Amaram and Odayil Ninnu are four famous films in Malayalam. Of these one is different
from the other three in the source of story depicted. Which is that ?

(A) Ummachu (B) Chemmeen (C) Amaram (D) Odayil Ninnu

Anthrax has suddenly attracted the attention of all the world nations, following its spread in the USA. This disease is
caused by

(A) virus (B) fungus (C) bacteria (D) amoeba

Recently Anthropologists excavated the relics of a very ancient civilization in India that could throw new light on
human cultural development. Where was this found ?

(A) Orissa (B) Rajasthan (C) Gujarat (D) Bihar

Which is the firs film based on history on Harry Potter novel series written for children, that has created a sensation?
(A) Harry Potter and goblet of fire (B) Harry Potter and Sorcerer's Stone

(C) Harry Potter and Philosopher's Stone (D) Harry Potter and Chamber of Secrets

Historical event that directly accelerated planned missionary work for the spread of Buddhism in India and abroad
was

(A) the travel of Hiuan Tsang in India

(B) the grief of emperor ashoka over the destruction in the Kalinga War

(C) the establishment of monasteries by monks

(D) the interest shown in Buddhism by the Chinese

The communication satellite which was launched by India on the 24th January 2002 is

(A) Insat 2B (B) Insat 2C (C) Insat 3B (D) Insat 3C
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35. Excise duties are taxes on the

(A) production of commodities (B) import of commodities
(C) export of commodities (D) sales of commodities
36. The correct method in teaching technology is
(A) sender-receiver (B) sender-message-receiver
(C) sender-receiver-receiver (D) sender-message-medium-receiver
37. Indian born Mark Tully was awarded Kinghthood by the British queen. This was for service as
(A) social worker (B) media man
(C) aliterary figure (D) an artist
38. The instructional method which has its root in the educational philosophy of Dowey is
(A) Heuristic method (B) Inductive method
(C) Project method (D) Analytic method
39. To which educational philosophy do Vygotsky's educational ideas belongs
(A) Idealism (B) Existentialism
(C) Constructivism (D) Developmentalism
40. CAI indicates
(A) Computer Application in Industry (B) Computer Application in Instruction
(B) Computer Assisted Instruction (C) Computer Assisted Information Processing
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